Sr Questions Answers Choice

Brazl

Poland

. Czech Republic
Greece

1 Accoroding to the world Bank,which country is not a peripheral country?

London-Paris

Hong Kong-Taipel
Tokyo-Los Angeles
London-New York

2 What is the world,s busiest international passenger route?

Burundi

. Sierra Leone
Ethiopia
Niger

3 What is the world,s poorest country , based on GNP per capita?

. Liechtenstein
Luxembourg
Switzerland
Bermuda

4 Based onn GNP per capita,what is the world,s richest country?

Honolulu
Manila

Kuala Lumpur
Seoul

5 In which city would you find Ninoy Aquino International Airport?

1986
1990
1994
1998

6 When were North Yemen and South Yemen united?

Northern Territory
Queensland&nbsp;
Tasmania

South Australia

7 New South Wales is south of which Australian state?

. Argentina&nbsp;
Peru
Chile&nbsp;
Venezuela

8 Augusto Pinochet was ruler of which country?

London
Chicago
Brisbane&nbsp;
Paris

9 Where was the Crystal palace Exposition held in 18517

1948
1967
1973
1988

10 When were the Gaza Strip and West Bank both occupied by Israel?
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